S3 Table: Correlations of fixed effects of the overall LMM 
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group                                     -0.440

distractor                                        -0.222  0.252

prime                                     -0.222  0.252  0.502

meaning dominance[nd]                                     -0.596  0.093  0.186  0.186

meaning dominance[d]                                     -0.596  0.093  0.186  0.186  0.500

group*distractor                            0.156 -0.357 -0.705 -0.354 -0.131 -0.131

group*prime                         0.156 -0.357 -0.353 -0.704 -0.131 -0.131  0.501

distractor*prime                            0.157 -0.178 -0.707 -0.706 -0.132 -0.132  0.499  0.497

group*meaning dominance[nd]                         0.156 -0.356 -0.352 -0.353 -0.262 -0.131  0.500  0.500  0.249

group*meaning dominance[d]                         0.156 -0.357 -0.353 -0.354 -0.131 -0.262  0.501  0.501  0.250   0.500

distractor*meaning dominance[nd]                            0.157 -0.178 -0.706 -0.354 -0.262 -0.131  0.498  0.249  0.499   0.497  0.249

distractor*meaning dominance[d]                            0.157 -0.178 -0.707 -0.355 -0.132 -0.262  0.498  0.250  0.500   0.249  0.498  0.499

prime*meaning dominance[nd]                         0.157 -0.178 -0.354 -0.705 -0.263 -0.131  0.249  0.497  0.498   0.497  0.250  0.499  0.250

prime*meaning dominance[d]                         0.157 -0.178 -0.354 -0.706 -0.132 -0.263  0.250  0.497  0.499   0.249  0.499  0.250  0.500  0.498

group*distractor*prime              -0.111  0.252  0.499  0.498  0.093  0.093 -0.707 -0.707 -0.705  -0.353 -0.354 -0.352 -0.352 -0.351 -0.352

group*distractor*meaning dominance[nd]              -0.110  0.252  0.498  0.250  0.185  0.093 -0.706 -0.354 -0.352  -0.708 -0.354 -0.705 -0.352 -0.352 -0.176  0.499

group*distractor*meaning dominance[d]              -0.111  0.253  0.499  0.250  0.093  0.185 -0.708 -0.355 -0.353  -0.354 -0.707 -0.352 -0.706 -0.177 -0.353  0.501  0.500

group*prime*meaning dominance[nd]           -0.110  0.252  0.249  0.497  0.185  0.093 -0.354 -0.706 -0.351  -0.708 -0.354 -0.352 -0.176 -0.705 -0.351  0.499  0.501  0.250

group*prime*meaning dominance[d]           -0.111  0.252  0.250  0.498  0.093  0.185 -0.354 -0.708 -0.352  -0.354 -0.707 -0.176 -0.352 -0.351 -0.705  0.500  0.250  0.500  0.500

distractor*prime*meaning dominance[nd]              -0.111  0.126  0.499  0.498  0.186  0.093 -0.352 -0.351 -0.706  -0.352 -0.176 -0.707 -0.353 -0.707 -0.352  0.498  0.499  0.249  0.498  0.248

distractor*prime*meaning dominance[d]              -0.111  0.126  0.500  0.499  0.093  0.185 -0.352 -0.351 -0.706  -0.176 -0.352 -0.353 -0.707 -0.352 -0.706  0.498  0.249  0.499  0.248  0.498  0.498

group*distractor*prime*meaning dominance[nd]  0.078 -0.178 -0.352 -0.352 -0.131 -0.066  0.500  0.500  0.498   0.501  0.250  0.499  0.249  0.499  0.248 -0.707 -0.708 -0.354 -0.708 -0.354 -0.706 -0.352 

group*distractor*prime*meaning dominance[d]  0.078 -0.179 -0.353 -0.352 -0.066 -0.131  0.500  0.500  0.499   0.250  0.500  0.249  0.499  0.248  0.499 -0.708 -0.353 -0.707 -0.353 -0.707 -0.352 -0.706  0.500

nd= non-dominant meaning; d = dominant meaning


